
Honda Africa Twin CRF 1000 / Adv. Sport 

Windscreen Adjuster Installation Instructions 
 

Included Parts: 

 

1x lower adjuster bracket 

1x upper adjuster bracket 

4x hand knobs (incl. spacer washer, T-slot nut, rubber & steel washer) 

2x spacer D20x3mm 

2x bolt M5x20mm  

2x bolt M5x30mm  

1x well nut M5 as a spare part (rubber nut) 

 

additional parts at adjuster for Africa Twin Adv. Sport: (description at end of manual) 

2x self-lock nut M5 

2x washer D5      

2x spacer D15mm x 5mm 

 

 

Installation Instructions: 

 

1. Remove the OEM windscreen by removing the existing 4 OEM bolts. The bolts can be set 

aside as they will be replaced by the delivered M5x20mm and M5x30mm bolts. While 

removing both lower bolts, be careful the 2 well nuts do not fall inside the headlight cover. 

One well nut is provided as a spare in the event this happens. 

You can remove the windshield without taking the bottom screws all the way out. Just 

loosen them and with the top ones removed first, the screen can be slipped down and out 

with the well nuts still attached. Their mounting hole is slotted as you can see on the unused 

middle mounting hole. Never worry about losing the well nuts behind the fairing again. 

 

2. At the lower U-shaped adjuster, install the two M5x30mm bolts through the two 

mounting holes. Then attach the D20x3mm spacers from the back side and screw on the 

removed well nuts. This prevents them from falling into the headlight cover when mounting 

this part later. 

 

 



3. Pre-assemble the upper and lower adjuster brackets on the back side of the windscreen as 

seen in the picture below. Insert the hand knobs from the front side of the windscreen, steel 

and rubber washer positioned as pre-mounted on the hand knob. From the back side, first 

the 5mm spacer, then the adjuster bracket and finally the T-slot nut. Do not tighten the hand 

knobs, to allow for adjustment of the upper and lower parts. 

 

 

 

 

 

 

 

 

 

 

 

 

4. To mount the screen, start with the upper part. Slide the windscreen to the upper end of 

the adjustment, this way the two fastening holes are accessible. Place the M5x20 bolts 

through the two holes. 

 

5. Slide the windscreen in the middle position of the upper adjuster bracket and clamp with 

the two upper hand knobs in this position. The windscreen is now fixed. Now introduce the 

lower adjuster part (assembled in step 2) with the well nuts in their original position and 

tighten the two bolts M5x30 firmly. 

 

Installation is now complete! 

 

Always tighten the hand knobs well, and remember to check them from time to 
time. The rubber washer is designed to prevent loosening. 

 

Attention: 
For screen adjusting, DO NOT completely remove the hand knobs, otherwise 
the T-slot nuts will fall off the back side 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  



ONLY FOR AFRICA TWIN ADV. SPORT 
 

Adv. Sport screen has 6 mounting parts instead of 4, the both additional ones between 
upper and lower are not in use on the brackets. 
Caused by larger screen, the upper adjuster bracket would be more flexible with mounted 
screen 
For stabil mount of the system also at higher speeds, remove the both upper well nuts and 
mount the upper adjuster bracket directly on the screen mount at bike. The D15x5mm 
spacer is placed between bracket and bike as on picture below. 
At backside under the rubber cab, use the washer and self-lock nut to tight the part well. 
I recommend replacement of upper well nuts after installation of screen as described for 
standard AT, so it is easier to bring upper adjuster bracket in right mounting position.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

If spare parts are needed: email to " gsadventure@gmx.net " 

 

 

 

 

 

 

 

 

2019 © by Batzen / Wolfgang Roth 

 

 


